Ethiraju Thandapani; R. Arul Oscillatory and asymptotic behavior of solutions of higher order damped nonlinear difference equations

Czechoslovak Mathematical Journal, Vol. 49 (1999), No. 1, 149-161

Persistent URL: http://dml.cz/dmlcz/127475

Terms of use:

© Institute of Mathematics AS CR, 1999

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://dml.cz

OSCILLATORY AND ASYMPTOTIC BEHAVIOR OF SOLUTIONS OF HIGHER ORDER DAMPED NONLINEAR DIFFERENCE EQUATIONS

E. THANDAPANI and R. ARUL, Tamil Nadu

(Received August 5, 1996)

Abstract. The asymptotic and oscillatory behavior of solutions of mth order damped nonlinear difference equation of the form

$$\Delta(a_n \Delta^{m-1} y_n) + p_n \Delta^{m-1} y_n + q_n f(y_{\sigma(n+m-1)}) = 0$$

where m is even, is studied. Examples are included to illustrate the results.

MSC 2000: 39A12

Keywords: higher order difference equation, oscillation

1. INTRODUCTION

The problem of determining oscillation criteria for difference equations has been the subject of intensive investigations in the last few years, see for example [2–3, 6–18] and the references cited therein. We refer particularly to [2, 3, 12, 13, 16– 18] in which oscillation theorems for higher order nonlinear difference equations are presented. Following this trend, in this paper we are concerned with the oscillatory and asymptotic behavior of the m^{th} order nonlinear damped difference equation of the form

(E)
$$\Delta(a_n \Delta^{m-1} y_n) + p_n \Delta^{m-1} y_n + q_n f(y_{\sigma(n+m-1)}) = 0, \quad n \in \mathbb{N}$$

where *m* is even, $n \in \mathbb{N} = \{0, 1, 2, ...\}$ and Δ is the forward difference operator defined by $\Delta y_n = y_{n+1} - y_n$ and $\Delta^i y_n = \Delta(\Delta^{i-1}y_n), 1 \leq i \leq m$. The real sequences $\{a_n\}, \{p_n\}, \{q_n\}, \{\sigma(n)\}$ and the function *f* satisfy the following hypotheses:

- (H₁) $a_n > 0$ with $\Delta a_n > 0$ and $\{p_n\}$ and $\{q_n\}$ are given infinite sequences such that $p_n \ge 0$ and $q_n > 0$ for all $n \ge n_0 \in \mathbb{N}$;
- (H₂) { $\sigma(n)$ } is a given monotonic increasing sequence of integers such that $\sigma(n) \to \infty$ as $n \to \infty$;
- (H₃) $f: \mathbb{R} \to \mathbb{R} = (-\infty, \infty)$ is continuous and nondecreasing such that uf(u) > 0 for $u \neq 0$.

By a solution of equation (E) we mean a real sequence $\{y_n\}$ satisfying equation (E) for all $n \in \mathbb{N}$. A solution of equation (E) is said to be oscillatory if it is neither eventually positive nor eventually negative. Otherwise it is called nonoscillatory.

Our purpose in this paper is to obtain sufficient conditions for all solutions of equation (E) to be oscillatory. Thandapani and Sundaram [14] have recently considered a special case of equation (E)

(E₁)
$$\Delta^m y_n + q_n f(y_{n-\sigma_n}) = 0, \quad n \ge n_0$$

where $\{q_n\}$ is an eventually positive sequence. Our results include, as special cases, known oscillation theorems not only for equation (E₁), but also for several other particular difference equations considered in [1]. Further, our results generalize those in [10, 11]. Finally, we remark that the motivation of this paper comes from [4, 5].

2. Main results

In the sequel, we need the following two lemmas of which the first can be found in [18] and the second in [1].

Lemma 1. Let $\{y_n\}$ be a sequence of real numbers defined in \mathbb{N} . Let $\{y_n\}$ and $\{\Delta^m y_n\}$ be of constant sign with $\Delta^m y_n$ being not identically zero on any subset of the form $\{n_1, n_1 + 1, \ldots\}$ of \mathbb{N} . If

$$y_n \Delta^m y_n \leqslant 0,$$

then

- (i) there is a natural member $n_2 \ge n_1$ such that the sequence $\{\Delta^j y_n\}, j = 1, 2, \ldots m-1$ is of constant sign on $\{n_2, n_2+1, \ldots\}$.
- (ii) there exists a number $l \in \{0, 1, 2, \dots, m-1\}$ with $(-1)^{m-l-1} = 1$ such that

$$y_n \Delta^j y_n > 0 \quad \text{for} \quad j = 0, 1, 2, \dots, l, \ n \ge n_2,$$

$$(-1)^{j-l} y_n \Delta^j y_n > 0 \quad \text{for} \quad j = l+1, \dots, m-1, \ n \ge n_2.$$

Lemma 2. Let $y_n > 0$ and $\Delta^{m-1}y_n > 0$ be defined for $n \ge n_0 \in \mathbb{N}$ with $\Delta^m y_n \le 0$ for all $n \ge n_0$, and not eventually identically equal to zero. Then there exists an integer $n_1 \ge n_0$ such that

$$y_n \ge \frac{(n-n_1)^{(m-1)}}{(m-1)!} \Delta^{m-1} y_{2^{m-l-1}n}$$

for $n \ge n_1$, where l is defined in Lemma 1 and $(n - n_1)^{(m-1)}$ is the usual factorial notation.

Remark 1. Observe that under the hypotheses of Lemma 1, if $\{y_n\}$ is increasing, then

$$y_{n+m-1} \ge \frac{1}{(m-1)!} \left(\frac{n}{2^{m-1}}\right)^{(m-1)} \Delta^{m-1} y_n$$

for $n \ge 2^{m-1}n_1$.

Theorem 1. Suppose that

(1)
$$a_n - p_n > 0 \quad \text{for} \quad n \ge n_0 \in \mathbb{N},$$

and

(2)
$$\sum_{n=n_0}^{\infty} \frac{q_n}{a_{n+1}} = \infty.$$

Further assume that there exists a positive real sequence $\{\beta_n\}$ such that

(3)
$$\Delta \beta_n \leq 0, \quad \Delta(p_n \beta_{n+1}) \leq 0 \quad \text{and} \quad \Delta(a_n \Delta \beta_n) \geq 0$$

for all $n \ge n_0 \in \mathbb{N}$. If

(4)
$$\sum_{n=n_0}^{\infty} q_n \beta_{n+1} = \infty$$

and

$$\sum_{n=n_0}^{\infty} \frac{1}{a_n \beta_n} \left(\sum_{s=n_0}^{n-1} q_s \beta_{s+1} \right) = \infty$$

hold then every solution of equation (E) is either oscillatory or tends to zero monotonically as $n \to \infty$.

Proof. Let $\{y_n\}$ be a nonoscillatory solution of equation (E) which is eventually of constant sign. Without loss of generality we may assume that $y_n > 0$ and $y_{\sigma(n)} > 0$ for all $n \ge n_0 \in \mathbb{N}$, since the proof for the case $y_n < 0$ for $n \ge n_0$ is similar. Now we consider the following cases for the behavior of $\{\Delta^{m-1}y_n\}$. **Case 1.** Suppose $\{\Delta^{m-1}y_n\}$ is oscillatory. Then there exists an integer $n_1 \ge n_0$ such that

$$\Delta^{m-1}y_{n_1} < 0 \quad \text{or} \quad \Delta^{m-1}y_{n_1} = 0.$$

First we consider $\Delta^{m-1}y_{n_1} < 0$. Now equation (E) implies

$$\Delta(a_{n_1}\Delta^{m-1}y_{n_1}) = -p_{n_1}\Delta^{m-1}y_{n_1} - q_{n_1}f(y_{\sigma(n_1+m-1)})$$

$$< -p_{n_1}\Delta^{m-1}y_{n_1}$$

since $-q_{n_1}f(y_{\sigma(n_1+m-1)}) < 0$. Hence

$$a_{n_1+1}\Delta^{m-1}y_{n_1+1} - a_{n_1}\Delta^{m-1}y_{n_1} < -p_{n_1}\Delta^{m-1}y_{n_1}$$

or

$$a_{n_1+1}\Delta^{m-1}y_{n_1+1} < (a_{n_1} - p_{n_1})\Delta^{m-1}y_{n_1} < 0.$$

Thus we get

$$\Delta^{m-1}y_{n_1+1} < 0.$$

By induction we obtain

$$\Delta^{m-1}y_n < 0 \qquad \text{for all} \quad n \ge n_1.$$

Next, consider $\Delta^{m-1}y_{n_1} = 0$. Then equation (E) implies $\Delta^{m-1}y_{n_1+1} < 0$ and we obtain as above $\Delta^{m-1}y_n < 0$ for all $n > n_1$. Hence in both cases, we obtain $\Delta^{m-1}y_n < 0$ for all $n > n_1$ which however contradicts the assumption that $\{\Delta^{m-1}y_n\}$ oscillates. Thus $\{\Delta^{m-1}y_n\}$ is eventually of fixed sign.

Case 2. $\Delta^{m-1}y_n > 0$ for all $n \ge n_1$ for some integer $n_1 \ge n_0 \in \mathbb{N}$. Using $(H_1)-(H_3)$, it follows from (E) that

$$a_{n+1}\Delta^m y_n + \Delta a_n \Delta^{m-1} y_n = -p_n \Delta^{m-1} y_n - q_n f(y_{\sigma(n+m-1)}) < 0 \quad \text{for} \quad n \ge n_1.$$

Hence we have

$$\Delta^m y_n \leqslant 0 \quad \text{for} \quad n \geqslant n_1$$

Now from Lemma 1, we have (here l is odd and $1 \leq l \leq m-1$)

$$\Delta y_n > 0$$
 and $\Delta y_{\sigma(n)} > 0$ for $n \ge n_1$.

Define

$$z_n = \frac{\beta_n v_n}{f(y_{\sigma(n+m-2)})}$$
 where $v_n = a_n \Delta^{m-1} y_n$.

Note that $z_n > 0$. Then for $n \ge n_1$ we have

(6)
$$\Delta z_n = -q_n \beta_{n+1} - \frac{p_n \beta_{n+1} \Delta^{m-1} y_n}{f(y_{\sigma(n+m-1)})} + \frac{v_n \Delta \beta_n}{f(y_{\sigma(n+m-1)})} - \frac{v_n \beta_n \Delta f(y_{\sigma(n+m-2)})}{f(y_{\sigma(n+m-1)})} f(y_{\sigma(n+m-1)})$$

From the hypotheses and condition (3) we obtain

$$\Delta z_n \leqslant -q_n \beta_{n+1}$$
 for $n \ge n_1$.

Summing the above inequality from n_1 to n, we have

$$\sum_{s=n_1}^n q_s \beta_{s+1} \leqslant z_{n_1} - z_{n+1} \leqslant z_{n_1} < \infty,$$

which contradicts (4).

Case 3. $\Delta^{m-1}y_n < 0$ for $n \ge n_1$ for some integer $n_1 \ge n_0 \in \mathbb{N}$. For $m \ge 4$ we have from Lemma 1 either

(7)
$$\Delta y_n > 0, \quad \Delta^2 y_n > 0$$

or

$$\Delta y_n < 0, \quad \Delta^2 y_n > 0$$

for $n \ge n_1$. Suppose (7) holds. Let $L = \lim_{n \to \infty} y_{\sigma(n+m-1)}$.

Then, since $\sigma(n+m-1) \to \infty$ and y_n and Δy_n are increasing for large n, we have $L = \infty$. Since f is nondecreasing, there exists an integer $n_2 \ge n_1$ such that $f(y_{\sigma(n+m-1)}) \ge A, n \ge n_2$ for some A > 0. Now, from equation (1), we get

$$a_{n+1}\Delta^{m-1}y_{n+1} \leqslant (a_n - p_n)\Delta^{m-1}y_n - Aq_n, \qquad n \ge n_2,$$

which in view of (1) leads to

(9)
$$\Delta^{m-1}y_{n+1} \leqslant -\frac{Aq_n}{a_{n+1}}, \quad n \geqslant n_2.$$

Summing (9) from n_2 to n-1, we obtain

(10)
$$\Delta^{m-2} y_{n+1} \leq \Delta^{m-2} y_{n_2+1} - A \sum_{s=n_2}^{n-1} \frac{q_s}{a_{s+1}}.$$

By (3), the right hand side of (10) tends to $-\infty$ as $n \to \infty$. Thus, there exists an integer $n_3 \ge n_2$ such that

$$\Delta^{m-2}y_{n+1} < 0 \quad \text{for} \quad n \ge n_3,$$

which implies that $y_n \to -\infty$ as $n \to \infty$ (see, Lemma (1.7.10 [1])). This contradicts the assumption that $\{y_n\}$ is eventually positive. Thus condition (8) is fulfilled. For m = 2, we automatically have $\Delta y_n < 0$ for $n \ge n_1$. Hence we have for $m \ge 2$, $\Delta y_n < 0$ for all $n \ge n_1$. Since $y_n > 0$ for $n \ge n_0 \in \mathbb{N}$, it follows that

$$\lim_{n \to \infty} y_n = b, \qquad b \ge 0.$$

We claim that b = 0. To prove it, assume b > 0. Define

$$u_n = \beta_n a_n \Delta^{m-1} y_n \quad \text{for} \quad n \ge n_1.$$

We then obtain for $n \ge n_1$

$$\Delta u_n = -\beta_{n+1} p_n \Delta^{m-1} y_n - \beta_{n+1} q_n f(y_{\sigma(n+m-1)}) + a_n \Delta^{m-1} y_n \Delta \beta_n.$$

Hence for all $n \ge n_1$ we have

(11)
$$u_{n} = u_{n_{1}} - \sum_{s=n_{1}}^{n-1} \beta_{s+1} p_{s} \Delta^{m-1} y_{s} - \sum_{s=n_{1}}^{n-1} \beta_{s+1} q_{s} f(y_{\sigma(s+m-1)}) \\ + \sum_{s=n_{1}}^{n-1} a_{s} \Delta \beta_{s} \Delta^{m-1} y_{s} \\ = u_{n_{1}} - \sum_{s=n_{1}}^{n-1} \beta_{s+1} p_{s} \Delta^{m-1} y_{s} - f(y_{\sigma(n+m-1)}) \sum_{s=n_{1}}^{n-1} q_{s} \beta_{s+1} \\ + \sum_{s=n_{1}}^{n-1} \Delta f(y_{\sigma(s+m-1)}) \sum_{t=n_{1}}^{s} q_{t} \beta_{t+1} + \sum_{s=n_{1}}^{n-1} a_{s} \Delta \beta_{s} \Delta^{m-1} y_{s}.$$

Since $\{y_n\}$ is positive decreasing and f is nondecreasing, we have $\Delta f(y_{\sigma(n+m-1)}) \leq 0$ for all $n \geq n_1$. Then we have from (11)

$$u_n \leqslant u_{n_1} - \sum_{s=n_1}^{n-1} \beta_{s+1} p_s \Delta^{m-1} y_s - f(y_{\sigma(n+m-1)}) \sum_{s=n_1}^{n-1} q_s \beta_{s+1} + \sum_{s=n_1}^{n-1} a_s \Delta \beta_s \Delta^{m-1} y_s.$$

Now using condition (3), summation by parts and the fact that $\Delta^{m-2}y_n < 0$ we obtain

$$u_n \leq u_{n_1} + p_{n_1}\beta_{n_1+1}\Delta^{m-2}y_{n_1} - f(b)\sum_{s=n_1}^{n-1} q_s\beta_{s+1} - a_{n_1}\Delta^{m-2}y_{n_1}.$$

So, for every $n \ge n_1$, we have

$$u_n \leqslant M - f(b) \sum_{s=n_1}^{n-1} q_s \beta_{s+1}$$

where $M = u_{n_1} + p_{n_1}\beta_{n_1+1}\Delta^{m-2}y_{n_1} - a_{n_1}\Delta\beta_{n_1}\Delta^{m-2}y_{n_1}$. By assumption (4), there exists an integer $n_2 \ge n_1$ such that

$$u_n \leqslant -\frac{f(b)}{2} \sum_{s=n_2}^{n-1} q_s \beta_{s+1} \quad \text{for} \quad n \ge n_2.$$

Thus

$$\sum_{s=n_2}^{n-1} \Delta^{m-1} y_s \leqslant -\frac{f(b)}{2} \sum_{s=n_2}^{n-1} \frac{1}{a_s \beta_s} \sum_{t=n_2}^{s-1} q_t \beta_{t+1}.$$

This, in view of condition (5), leads to

$$\Delta^{m-2}y_n \to -\infty \quad \text{as} \quad n \to \infty,$$

which in turn implies $y_n \to -\infty$ as $n \to \infty$ (see Lemma 1.7.10 [1]). This contradicts the assumption that $y_n > 0$ for all $n \ge n_0 \in \mathbb{N}$. This completes the proof of the theorem.

Remark 2. When m = 2 and $\sigma(n) = n$, Theorem 1 reduces to Theorem 1 given in [10].

Example 1. The difference equation

(E₂)
$$\Delta(n(n+1)(n+2)(n+3)\Delta^3 y_n) + n(n+1)\Delta^3 y_n + \frac{6(n+3)^4}{n+2}y_{n+3}^5 = 0, \quad n \ge 1$$

satisfies all conditions of Theorem 1 when $\beta_n = \frac{1}{n(n+1)(n+2)}$ and hence every solution of equation (E₂) is either oscillatory or tends to zero monotonically as $n \to \infty$. In fact, equation (E₂) admits a solution $\{y_n\} = \{1/n\} \to 0$ monotonically as $n \to \infty$.

Theorem 2. Let conditions (1), (3)–(5) hold. Then every bounded (all) solution(s) of equation (E) is (are) oscillatory when $m \ge 4$ ($m \ge 2$).

Proof. The proof is similar to that of Theorem 1 except Case 3. In this case if we take into account the boundedness of solutions of equation (E) for $m \ge 4$, then condition (8) holds for $m \ge 2$. The rest of the proof is similar to that of Case 3 and hence the details are omitted.

Next, we study the oscillatory behavior of equation (E) using the following lemma, which is a discrete analogue of Lemma 3 of Grace and Lalli [4]. \Box

Lemma 3. Suppose that condition (1) holds. If

(12)
$$\sum_{n=n_0}^{\infty} \frac{1}{a_n} \left[\prod_{s=n_0}^{n-1} \left(1 - \frac{p_s}{a_s} \right) \right] = \infty$$

and if $\{y_n\}$ is a nonoscillatory solution of equation (E), then there is an integer $n_1 \ge n_0 \in \mathbb{N}$ such that

$$y_n \Delta^{m-1} y_n > 0 \quad \text{for all} \quad n \ge n_1$$

Proof. Let $\{y_n\}$ be a nonoscillatory solution of equation (E) which must then eventually be of constant sign. Without loss of generality, we can assume that $y_n > 0$, and $y_{\sigma(n)} > 0$ for all $n \ge n_0 \in \mathbb{N}$, since the proof for the case $y_n < 0$, $n \ge n_0$ is similar. As in the proof of Theorem 1 (Case 3), $\{\Delta^{m-1}y_n\}$ cannot oscillate. Therefore $\{\Delta^{m-1}y_n\}$ is eventually of fixed sign. Let $\Delta^{m-1}y_n < 0$ for all $n \ge n_1 \ge n_0$; then if $w_n = -a_n \Delta^{m-1}y_n$, $n \ge n_1$, we get from equation (E)

$$\Delta w_n + \frac{p_n}{a_n} w_n \ge 0.$$

From the above equation, we obtain

$$w_n \ge w_{n_1} \prod_{s=n_1}^{n-1} \left(1 - \frac{p_s}{a_s} \right)$$

or

$$\Delta^{m-1}y_n \leqslant -\frac{w_n}{a_n} \prod_{s=n_1}^{n-1} \left(1 - \frac{p_s}{a_s}\right), \quad n \geqslant n_1.$$

Summing the above inequality from n_1 to n-1 and using the condition (12) yields

$$\Delta^{m-2}y_n \to -\infty \quad \text{as} \quad n \to \infty,$$

which implies that $y_n \to -\infty$ as $n \to \infty$, a contradiction. This complete the proof.

Theorem 3. Let conditions (1), (3), (4) and (12) be satisfied. Then every solution of equation (E) is oscillatory.

Proof. The proof is similar to that of Theorem 1 and Lemma 3 and hence the details are omitted. $\hfill \Box$

Example 2. The difference equation

(E₃)
$$\Delta(n\Delta^3 y_n) + \frac{1}{n}\Delta^3 y_n + \frac{27(3n^2 + n - 2)2^{2n+5}}{n}y_{n+3}^3 = 0, \quad n \ge 2$$

satisfies all conditions of Theorem 3 if we choose $\beta_n = 1$. Hence all solutions of (E₃) are oscillatory. In fact, one such solution of (E₃) is $\{y_n\} = \{(-1)^n/2^n\}$.

Remark 3. In Theorems 1-3 we do not require that the function f be superlinear or sublinear. Furthermore, the statement of Theorems 1–3 holds when the argument $\sigma(n)$ is of ordinary, retarded, advanced or mixed type.

In the following theorem we study the oscillatory behavior of equation (E) subject to the condition

(13)
$$\frac{f(u)}{u} \ge M > 0 \quad \text{for} \quad u \neq 0.$$

Theorem 4. Let $\sigma(n) \leq n$. Suppose that conditions (1), (12) and (13) hold. Assume that there exists a positive nondecreasing real sequence $\{\beta_n\}$ such that condition (4) and

(14)
$$\sum_{n=n_0}^{\infty} \frac{a_n \Delta \beta_n}{(\sigma(n+m-1)/2^{m-1})^{(m-1)}} < \infty$$

hold. Then every solution of equation (E) is oscillatory.

Proof. Let $\{y_n\}$ be a nonoscillatory solution of equation (E) which must then eventually be of constant sign. In view of Lemma 3, there is no loss in generality in assuming that there is an integer $n_1 \ge n_0 \in \mathbb{N}$ such that

$$y_n > 0$$
, $y_{\sigma(n)} > 0$ and $\Delta^{m-1}y_n > 0$ for all $n \ge n_1$.

Using the function z_n defined in the proof of Theorem 1 (Case 2), we obtain (6). This, in view of the hypothesis of the theorem, implies

$$\Delta z_n \leqslant -q_n \beta_{n+1} + \frac{v_n \Delta \beta_n}{f(y_{\sigma(n+m-1)})}, \quad n \ge n_1$$

or

(15)
$$\Delta z_n \leqslant -q_n \beta_{n+1} + \frac{a_n \Delta \beta_n \Delta^{m-1} y_n}{f(y_{\sigma(n+m-1)})}$$

By Lemma 2, there exists an integer $n_2 \ge n_1$ such that

$$y_{\sigma(n+m-1)} \ge \frac{1}{(m-1)!} (\sigma(n+m-1)/2^{m-1})^{(m-1)} \Delta^{m-1} y_n,$$
$$n \ge 2^{m-1} n_2 = n_3 \text{ (say)}.$$

Using the above inequality in (15), one gets

$$\Delta z_n \leqslant -q_n \beta_{n+1} + \frac{(m-1)! a_n \Delta \beta_n}{(\sigma(n+m-1)/2^{m-1})^{(m-1)}} \frac{y_{\sigma(n+m-1)}}{f(y_{\sigma(n+m-1)})}.$$

Now using condition (13) in the last inequality, we obtain

$$\Delta z_n \leqslant -q_n \beta_{n+1} + \frac{(m-1)!}{M} \frac{a_n \Delta \beta_n}{(\sigma(n+m-1)/2^{m-1})^{(m-1)}}, \quad n \ge n_3,$$
$$\sum_{s=n_3}^n q_s \beta_{s+1} < z_{n_3} - z_{n+1} + \frac{(m-1)!}{M} \sum_{s=n_3}^n \frac{a_s \Delta \beta_s}{(\sigma(n+m-1)/2^{m-1})^{(m-1)}}$$

By using condition (14) and in view of $z_n > 0$, $n \ge n_3$, we have

$$\sum_{n=n_3}^{\infty} q_n \beta_{n+1} < \infty,$$

which contradicts condition (4). This completes the proof of the theorem.

Example 3. The difference equation

(E₄)
$$\Delta(n\Delta^3 y_n) + \frac{1}{n}\Delta^3 y_n + 27\frac{3n^2 + n - 2}{n}\frac{2^{2n+5}}{1 + 2^{2n+6}}(y_{n+3} + y_{n+3}^3) = 0, \quad n \ge 1$$

satisfies all conditions of Theorem 4 if we choose $\beta_n = 1$. Hence all solutions of (E₄) are oscillatory. In fact, one such solution of (E₄) is $\{y_n\} = \{(-1)^n/2^n\}$.

Finally, we study the oscillatory behavior of equation (E) subject to the condition

(15)
$$-f(-uv) \ge f(uv) \ge Kf(u)f(v)$$

on $\mathbb{R} - \{0\}$, where K is a positive constant.

Theorem 5. Let $\sigma(n) \leq n$. Suppose that conditions (1), (13), (15) hold. Assume

(16)
$$\int_{-\alpha}^{0} \frac{\mathrm{d}u}{f(u)} > -\infty \quad \text{and} \quad \int_{0}^{\alpha} \frac{\mathrm{d}u}{f(u)} < \infty, \quad \text{for all} \quad \alpha > 0,$$

and

(17)
$$\sum_{n=n_0}^{\infty} A_n q_n = \infty,$$

where

$$A_n = f \Big[\frac{1}{a_n} \Big(\frac{\sigma(n+m-1)}{2^{m-1}} \Big)^{(m-1)} \Big].$$

Then every solution of equation (E) is oscillatory.

Proof. Let $\{y_n\}$ be a nonoscillatory solution of equation (E). As in Theorem 4, there exists an integer $n_1 \ge n_0 \in \mathbb{N}$ such that

$$y_n > 0, y_{\sigma(n)} > 0$$
 $\Delta^{m-1} y_n > 0$ for all $n \ge n_1$,

which in turn by Lemma 1 that

$$\Delta y_n > 0$$
 and $\Delta y_{\sigma(n)} > 0$ for $n \ge n_1$.

Since $p_n \ge 0$, equation (E) yields

(18)
$$\Delta(a_n \Delta^{m-1} y_n) + q_n f(y_{\sigma(n+m-1)}) \leq 0, \quad n \geq n_1.$$

By Lemma 2, there exists an integer $n_2 \ge n_1$ such that

(19)
$$y_{\sigma(n+m-1)} \ge \frac{1}{(m-1)!} \left(\frac{\sigma(n+m-1)}{2^{m-1}}\right)^{(m-1)} \frac{1}{a_n} [a_n \Delta^{m-1} y_n],$$
$$n \ge 2^{m-1} n_2 = n_3.$$

Using condition (15) and the nondecreasing nature of f, we have from (19)

(20)
$$f(y_{\sigma(n+m-1)}) > K^2 f\left(\frac{1}{(m-1)!}\right) A_n f(a_n \Delta^{m-1} y_n), \quad n \ge n_3.$$

Then, using (2) in (18) we have

(21)
$$\frac{\Delta(a_n \Delta^{m-1} y_n)}{f(a_n \Delta^{m-1} y_n)} + \mu \ A_n q_n \leqslant 0, \qquad n \ge n_3,$$

where $\mu = k^2 f(\frac{1}{(m-1)!})$. Observe that, for $a_n \Delta^{m-1} y_n \ge u \ge a_{n+1} \Delta^{m-1} y_{n+1}$, we have

$$\frac{1}{f(u)} \ge \frac{1}{f(a_n \Delta^{m-1} y_n)}$$

and consequently

$$-\int_{a_{n+1}\Delta^{m-1}y_{n+1}}^{a_n\Delta^{m-1}y_n} \frac{\mathrm{d}u}{f(u)} \leqslant \frac{\Delta(a_n\Delta^{m-1}y_n)}{f(a_n\Delta^{m-1}y_n)}.$$

Using the last inequality in (21) and summing the resulting inequality from n_3 to n, we obtain

$$\sum_{s=n_3}^n A_n q_n < \frac{1}{\mu} \int_{a_{n+1}\Delta^{m-1}y_{n+1}}^{a_{n_3}\Delta^{m-1}y_{n_3}} \frac{\mathrm{d}u}{f(u)},$$

which is by (16) an immediate contradiction to (17). Hence the proof of the theorem is complete.

Remark 4. Theorem 5 generalizes Theorem 4 given in [11].

Example 4. The difference equation

(E₅)
$$\Delta(n\Delta^3 y_n) + \frac{1}{n}\Delta^3 y_n + q_n y_{n+3}^{1/3} = 0, \qquad n \ge n_2$$

where $q_n = \frac{27(4^{3/4})(3n^2+2n-1)}{2n}$, satisfies all conditions of Theorem 5. Hence every solution of equation (E₅) is oscillatory. One such solution is $\{y_n\} = \{(-1)^n 2^n\}$. \Box

Acknowledgement. The authors thank the referee for his suggestions and corrections that improved the paper.

References

- [1] R.P. Agarwal: Difference Equations and Inequalities. Marcel Dekker, New York, 1992.
- R.P. Agarwal: Properties of solutions of higher order nonlinear difference equations I. An. Univ. AI.I. Cuza. Iasi. 31 (1985), 165–172.
- [3] R.P. Agarwal: Properties of solutions of higher order nonlinear difference equations II. An. Univ. AI.I. Cuza. Iasi 29 (1983), 85–96.
- [4] S.R. Grace and B.S. Lalli: Oscillation theorems for n-th order delay differential equations. J. Math. Anal. Appl. 91 (1983), 342–366.
- [5] S.R. Grace and B.S. Lalli: Oscillation theorems for damped differential equations of even order with deviating arguments. SIAM. J. Math. Anal. 15 (1984), 308–316.
- [6] J.W. Hooker and W.T. Patula: A second order nonlinear difference equation: Oscillation and asymptotic behavior. J. Math. Anal. Appl. 91 (1983), 9–29.
- [7] M.R.S. Kulenovic and M. Budincevic: Asymptotic analysis of nonlinear second order difference equations. Anal. Sti. Univ. Iasi. 30 (1984), 39–52.
- [8] V. Lakshmikantham and D. Trigiante: Theory of Difference Equations: Numerical Methods and Applications. Academic Press, New York, 1988.
- [9] J. Popenda: Oscillation and nonoscillation theorems for second order difference equations. J. Math. Anal. Appl. 123 (1987), 34–38.
- [10] E. Thandapani: Asymptotic and oscillatory behavior of solutions of nonlinear second order difference equations. Indian. J. Pure. Appl. Math. 24 (1993), 365–372.

- [11] E. Thandapani: Oscillation theorems for second order damped nonlinear difference equations. Czechoslovak Math. J. 45(120) (1995), 327–335.
- [12] E. Thandapani, P. Sundaram and B.S. Lalli: Oscillation theorems for higher order nonlinear delay difference equations. Computers Math. Applic. 32 (1996), 111–117.
- [13] E. Thandapani, P. Sundaram, J.R. Graef, A. Miciano and P.W. Spikes: Classification of nonoscillatory solutions of higher order neutral type difference equations. Arch. Math. (Brno) 31 (1995), 263–277.
- [14] E. Thandapani and P. Sundaram: Oscillation theorems for some even order nonlinear difference equations. J. Nonlinear Diff. Eqn. 4 (1996). To appear.
- [15] P.J.Y. Wong and R.P. Agarwal: Oscillation theorems and existence of positive monotone solutions for second order non linear difference equations. Math. Comp. Modelling 21 (1995), 63–84.
- [16] P.J.Y. Wong and R.P. Agarwal: The oscillation of an m-th order perturbed nonlinear difference equation. Arch. Math. (Brno) 32 (1996), 13–27.
- [17] A. Zafer: On the existence of positive solutions and the oscillation of solutions of higher order difference equations with forcing terms. Preprint.
- [18] A. Zafer: Oscillatory and asymptotic behavior of higher order difference equations. Math. Comput. Modelling 21 (1995), 43–50.

Authors' address: Department of Mathematics, Madras University P.G. Centre, Salem-636 011, Tamil Nadu, India.